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Pt (g) Pth (g) Pts (g) Pe (g) Ps (g) W  (% )

 

01 36.4 145.00 127.89    
02 36.8 137.11 120.67    
03 35.9 139.00 122.32    
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0.4 mm 

1535
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  01  02  03  
)  (N 15  20  32  

  1  2  3  4  5  6  
Pt (g)  37.2  36.4  35.4  36.3  35.3  37.3  

Pth (g)  132.8  140.0  159.8  122.0  132.8  141.6  
Pts (g)  115.0  121.0  137.4  106.5  116.0  123.8  

. Pe (g)              
Ps (g)              

W  (% )              
W  (% )        
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  01  02  
  1  2  3  4  

Pt (g)  36.4  37.8  36.8  35.1  
Pth (g)  81.6  80.0  74.9  71.8  
Pts (g)  75.1  73.6  69.2  66.5  

. Pe (g)          
Ps (g)          

W  (% )          
W  (% )      
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Pt (g) Pth (g) Pts (g) Pe (g) Ps (g) W  (% )

 

01 36.4 145.00 127.89    
02 36.8 137.11 120.67    
03 35.9 139.00 122.32    
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  01  02  03  
)  (N 15  20  32  

  1  2  3  4  5  6  
Pt (g)  37.2  36.4  45.4  36.3  35.3  37.3  

Pth (g)  132.8  140.0  169.8  122.0  132.8  141.6  
Pts (g)  115.0  121.0  147.4  106.5  116.0  123.8  

. Pe (g)              
Ps (g)              

W  (% )              
W  (% )        
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  01  02  
  1  2  3  4  

Pt (g)  36.4  37.8  36.8  35.1  
Pth (g)  81.6  80.0  74.9  71.8  
Pts (g)  75.1  73.6  69.2  66.5  

. Pe (g)          
Ps (g)          

W  (% )          
W  (% )      
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